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RSB RERE(CRM)

EEEIFHEIERDP)

%ﬁ_‘;@fﬁnu = (UML)

{25 A2 7535 (Object-Oriented, OO)

ZE(30%)

. fATRECASE

M FBfT B 15 (M-Commerce) ?

{AEEfERR R EfE(Metcolfe’ s Law)

(RS E R I AR IARE T EimiRs , g r'j;ﬁﬁ'ﬁﬂ'ﬁj .

HARMARA TFEER 22 5 H FR4E(TPS; Transaction Processing System)s &L _E{i]
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= - J@iEE(10%) :
1. fEHRAR— R
2. FEHERE AR (Waterfall Model) (Bl 4188 4 fysEHAYE ¢ SDLO)

VY ~ ZERERE(40%) : 958 2 53 » BEEREH - 3SR ESAR LS/ NI = 8 e

1 EOESER ISP AT - BB P IOREERRE - SRR AR A
B SEREEREE ? (A FERE T (B) BERES (O BTEDR (D) 4

2. FHASMESAEESGET (TENCLER?  (A) THABESRSEE 5
EMEARNFE (B EERETWHRNHE T IS E I ReEEET. (0 TR
N B NABMRRE R RRAL LR S AT A ARHEAE (D) BRFG T EEs
HIFRAEL -

3. TERATEAHIRE ) BUUFITEREERE? (A ALSHEMERRPK)  (B) B
£E (O $¥EEE O SHEEE.

4. ERIHEIRTTAERRREER (ong tai)AGE » HIERE? (A AERS LS EHAR
SEWES  (8) MBS LOTERNS S0%RMTESINERS  (C) #s R
BESE 20%IBSE T HEATE (D) BRI S LIS ETE -

5. THRGRMTETERE? (A HRBFEETUSE RS BN ENETSE (B8)
SSLIJRZZB/RILSETE (O BRIIBEREILFSBHREIRE L (0) BHARRE
LB B AT -
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EHAL 10024 FALHERLEFARMA

AR EREHEAB LI #FBLE: ERTERS
AEH THATER HERDX @Y (Ee+—cEEBANE)
W4 28 1 1 o B4 OxzAiis CReEXBASE)

10.
11.
12.
13:

14.

15.

16.

17.

18.
 AEEA - AT R S A MR ¢ (A)MIS  (B)extranet

19,

20.

pEsEEseM)  (8) GEFETVRIEAS) - EEETRGMS) (O RELEBRL

(DSS) ~ ZHRIEERTHAM(DBMS) (D) EEEFREE(ATM) - BERARIES) -

EH AT T AR RO NERT » (BT BRI R R ~ 3 HARBUR AR IR
{?’nﬁk{%ﬂt ,EE () TENEE (B) BURERASE S (O REEHE (D) BT
TR -

B [ FIRAe T T B LA B © LA A ERO I - 2.5 1 - 3. TTSRIE - 4.
=R~ SEAL (A) 1235  (B)1245' (C)125 (D) 1345 -

ERES TR AR Y (A EANREE () fuEEEE ()

TEEERK (D) MFREERM

R ISR » ERN AR AR 2 (AFEREAYT  (B)SHEEL
e (OGBS TR (D) -

AT TAURTAL R AL - R B B DU (A (B1ERFT ()
ERM (D) -

sypen o R SRR A T R . (AEEER (B) SRR (OF
frigdn (DRSS - '
TR TEs — 2 (AEIFEEOE  GEES (ORERNEHR
(D)R3L AR © e

s R B RS - BE—EREF (just-in-time ) PPRIEERHI(A) "BARES
WeEE | (B) TUUfEHEpEES (O TEEAEERNTE, (D) TEEERAREREM
R

INT S P R A A B (e B/ R AR F TR AR () T B YRR
(B) THELAECEE | (C) THEFEMEEAEEE, (D) T EREERARRRIRR, -
EREE LT Soh - THHTEEE (A WAZEELEE oA  BIFAEHE BRTE
s e o — R A 0 BRI AES (O EEMEAY 3A  FRRYEN
ANEEEY - FEEESEE TREE OCEERE - TGRS - PEAURT RoER R
R H B LAY -

FHIABIETEE (E-commerce) MAGIMAZEGR? (A) ERIER/EE - EEREGF
SEMES TR (Security) (B) ELRHERER S RETMIENERYE (O BLHE
EEMESMERET (D) ERLUEERENE -

S S e 1 L AL P B e 25 R PRI B MR Y

(C)intranet (D) internet °

LR S A S IR TR s BT T B - RIZEEENT FHUAITERAR 7 (A) POS
oo £ pLnem s =2 4ok (B) B2C 6 T4 7AM(C) C2B B T RIS AME(D) B2B BT FHHAAL -
FHIE— R RMER v R EREREL - ERUEEAE EEMELE RIS
BERrh AR BT A (A) [FEUEL(B) FRAEHE EamiEik (ORAIREE DFEE

®ER R

M-



ERARFIN0ELERLIHB AL XEA

A% AAEES AR L H B LM HERMR
Axe OTRATIM HEMA K #ad (E4+—x 4 #@shs)
e ot S OxRstE#k (FERABADE)

L. (30%) FHRETEAREELLT 45

(a) Starvation ;;'f ‘E %- ‘é}“’%ﬁ
(b) Complete binary tree

(c) Sort

(d) Cloud computing

(¢) Router

(f) Transaction

L. (20%) FE/3BIfR] Kruskal #EEFAEL Prim $EERL S TRUEES/MERE £

[ A& (minimum spanning tree) °
w01
50/ x
16
‘8 14 2
vsO 4
25 \/ !18 / 12

V4 OV3
2

2. (10%) FrfifeEf M (sta ck)Ed{TFl|(queue) - Fi—EE First-In-First-Out? H—1{fE
First-In-Last-Out? £5{{J#E? '

3. (15%) CPU scheduling deals with the problem of deciding which of the processes in
the ready queue is to be allocated the CPU. Please explain and compare the following
three scheduling algorithms.

(1) SJF(shortest-job-first),
(1)  Priority scheduling

(iii) Round-robin scheduling
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4. (5%) What is the difference between an intranet and an extranet?
5. (5%) Differentiate between WANs and LANs?
6. (15%) Using the lay models in the following Figure, describe the ordering and

delivery of a pizza, indicating the interactions at each level.

Guests Pizza cook
Host Order clerk
Telephone Telephone
Telephone line
Guests Pizza cook
Host Order clerk
Delivery van Delivery van

Road
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